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Questionl:-Consider the following Social Reformers

(1) Ayyavu Swamikal

(2) Sahodaran K. Ayyappan

(3) R. Sankar

(4) Nithya Chaitanya Yati

Who of the above is/are actively associated with the S.N.D.P. Yogam
@IOPaOQAN (MVIPaOAIBlUBOMILOS al@lW6ITl BB

(1) @rgoq quodle:ud

(2) veanosEM 6. @PQA|M

(3) @rd. vemad

(4) oy e6ammy Qo

QBSIT3 AOAUGIT @YEIEM af)MV. ag)(d. awl. all. @I cuslaimow mmu@ckjg'l(alﬁs;m@“?

=
=

), (2), (3) and (4)
(1) 2 (2) 20 (3) 90 (4) oo

Correct Answer:- Option-C

Question2:-Match List | with List Il and select the correct answer with the help of the
code given below :

List | List Il
(a) Raja Ram Mohan Roy (i) Kesari
(b) Annie Besant (ii) Sambad Kaumudi
(c) Kumaran Asan (iii) The Common Weal
(d) Bala Gangadhara Tilak (iv) Vivekodayam

Code :
ey’ | - a0 elqy Il ealomomengow] mose mmsloldlesm esoalamo
MaDIWETIOS (BGWIW OV HDROETNSLBH>
eflqy | . aflay I
(a) ®9229096 e2a0@ c0o (i) edmUEl
(b) @rymlenicroado (ii) cvmE eeogdl



(c) ®moemoveom (iii) A emonem alwd
(d) enei.mowe dleis (iv) alleaesozwo
BHHIW .

A:-(a)-(ii) (b)-(i) (c)- (iv) (d)-(iii)
(a)-(ii) (b)-(i) (c)- (iv) (d)-(iii)

B:-(a)-(ii) (b)-(i) (c)- (iii) (d)-(iv)
(a)-(ii) (b)-(i) (c)- (iii) (d)-(iv)

C:-(a)-(iii) (b)-(i) (c)- (iv) (d)-(ii)
(a)-(iii) (b)-(i) (c)- (iv) (d)-(ii)

D:-(a)-(ii) (b)-(iii) (c)- (iv) (d)-(i)
(a)-(ii) (b)-(iii) (c)- (iv) (d)-(i)

Correct Answer:- Option-D

Question3:-Arrange the following events chronologically
(1) Kallumala Samaram

(2) Villuvandi Samaram

(3) Aruvipuram Siva Prathishta

(4) Vaikom Satyagraha

Select the correct answer from the code given below :
@IOPOQAN (MEAIBRUY HORIGAANMTVE] 4] GAlHGElERE: :

(1) semoer mvaee

(2) aleiued cvae.

(3) (GT@@O.ﬂQdOo wlaeJollay

(4) e TUBPRW0.

2JAI6S M@BIWBlEBMM ¢ OaleIUIl,] VEIVIW OOMEo HTOEEVNSEBL

A:-(1), (2), (3), (4)
(1), (2), (3), (4)

Correct Answer:- Option-C



Question4:-Which of the following is/are related to Sree Chithira Tirunal?
(i) Introduced free universal and compulsory education

(2) First Raj Pramukh of the Travancore-Cochin Union

(3) Brilliant music composer

(4) The first census of the state was conducted

Select the correct answer using the code given below :
Walovlledlmmogac®] 6P oMU ag@osmy NITWESISlEsmM@?
(1) eaummmiale Modq@le:ql dldsirmwlmqmoe allapepPTvs Msafleoes]
(2) O@ale.ed-e8:05] QMemMo @B IR (AEUM

(3) dgmmmow mu.uIlmavealwode:m

(4) LorLNOME @RYEIEO ETVABTLAY MSOI)

2JQIOS M@BIQNRIEBM EHIW OaleIUg] VEIWIY OTMEo HDMOEETNFERD

A:-(1) and (2) only
(1) 20 (2) g0 20@o

B:-(2) and (3) only
(2) 20 (3) 20 20@o

:-(1), (2), (3)
(1), (2), (3)

C
D:-(1), (2), (3) and (4)
(1), (2), (3), (4)
Correct Answer:- Option-A

Question5:-Which of the following is/are related to the French Revolution?
(1) A watershed movement in modern history.

(2) The siege of the Bastille

(3) Jean-Jacques Rousseau is consider the father of the Revolution
(4) Tennis Court Oath

Select the correct answer using the code given below :
®I6Pa|OQMAIRIB @m0 el allg]aIni@0©l IMWe|sldlesma?

(1) erWMe dd@oviea 6@ TROMS @muNdmMo.

(2)  euoqlellomo oalcodwe

(3) =H3-=0@iny’ QeMWIe® allglaEmleo al@monnw] e:emeEnossmo

(4) esavlay eods (Jolmem

2JQIOS M@BIWBlEBMM 6B ©aleIUIy] VEIVIW OOMEo HDOEEITINSEBH

A:-(1), (2) and (3)
(1), (2), (3)

B:-(2), (3) and (4)
(2), (3), (4)
C:-(4) only
(4) 20@o
D:-(1), (2), (3) and (4)
(1), (2), (3), (4)
Correct Answer:- Option-D

Question6:-Current Director - General of Food and Agriculture Organization
BWMNOM 63000 QW @RHAW BRI U3 4/@ BIBWOHMETLUOHBO Mlalnlenl WQOrR®



A:-Kristalina Georgieva
@layelm emodedal

B:-Qu Dongyu

<ﬁaé G(U)OGB%

C:-Achim Steiner
@RH)o OTVQA

D:-Sir John Boyd Orr

U@ G=VI6EM CENIOIAW 630D
Correct Answer:- Option-B

Question7:-Which of the following statement is correct regarding the composition of
the earth's atmosphere?
6EDAIMNG|BHOIOMO *RISM MVENITWla] @060 ag@Ism @7

A:-Oxygen, the most important gas present in the atomosphere is very active
in the chemical processes of the physical and biological environment
@rgeacrdldloeal a@Qaje JWIMeS QIMEGRIQ 60gIRM WIGIEH:0) HORAINIGAYAIW
@RODBHUOBIOR!I RIMVEIWHSIT AseE Muedlaimoem’

B:-The most abudant gas in the atmosphere is Hydrogen
GRNGHHUOBTITE GO BFOMAISS QMo HOADQLRD @R

C:-The three constant gases in the atmosphere are carbondioxide, ozone and
water vapour
BHIBENITMVALECWIOEER, BICITVIEMD, BAIENIIHo agamli@osm gan’ qudle QU@ E68RU3

D:-Ozone is present in the troposphere
6S0GaMIAI@3 6306MLoEM D6

Correct Answer:- Option-A

Question8:-An example for metamorphic rock is
62Q2e208adld; a100Q ©BIADEEMo

A:-Granite
WoeMY

B:-Basalt
eNINOUBS

C:-Quartzite
BI0AZOOTVY
D:-Limestone
2ROy
Correct Answer:- Option-C
Question9:-Which among the following terms denote the periodic rise and fall of
water level in the world's seas and oceans?

GRIGHOMIORI H:Sejdglaj. TVYEREERJ eIMEa] H:08I0MRIYMRIW OWA4/Qe @ILWo MYallaflesam
AlGEBRUD a@®06m?

A:-Waves
©®EMILIMHUD

B:-Tides



caellewgeanud

C:-Currents
@QU9a00

D:-Wind surge

E%le) (Mg o) oestm'l_gdmogo
Correct Answer:- Option-B

Question10:-The Bakranangal multipurpose project is constructed on which river?
BG&IMeN@ DWSlalBajTV Bjomg; og® Mmalwlanem’ aildal sldlesma?

A:-Sutluj
o a1’

B:-Ganga
[6p116p]

C:-Yamuna
aM

D:-Brahmaputra
(AL

Correct Answer:- Option-A
Questionl1:-The source of four rivers in kerala is given. Which of the following is
correctly matched.

eHEsOmIeRI Mg MElGaes poals. emidlesm. ©®iee OmMIElesmMUIBd ag@osm’ tdlwow]
BBOMOIFIND?

A:-Periyar - Peerumedu plateau
0alelId - alla;enas’ aflo@al

B:-Bharathapuzha - Anamalai hills
EYaDaJ© - @YMAOOLR! BHMOBUY

C:-Kabbani - Agasthya hills

SENIM] - BRUWMYY BB U

D:-Pamba - Sivagiri hills
alnl = WIWIE] H:MeHUB

Correct Answer:- Option-B

Question12:-The latest Earth Observation Satellite lauched by ISRO on November
2022.

2022 0ainidlmd eagagri@rdes allestallyl a@Qje ool 6EDaMIEleHM Dalado

A:-EOS - 01
eoaagy - 01
B:-EOS - 03
enaagy - 03
C:-EQOS - 06
oaagaV - 06
D:-EQOS - 04
soaagV - 04

Correct Answer:- Option-C



Question13:-Consider the following statements regarding the Macroeconomic
Stabilization Measures of economic reform programme in 1991 :
(i) Itincludes all those economic policies which intend to boost the aggregate
demand in

the economy
(ii) It includes all those policy reforms which have been initiated by the
government to boost

the aggregate supply of goods and services in the economy
(iii) It includes policies for dismantling of the Administered Price mechanism.
1991 eai cvomicmle: al@layeem al@laloslQes m06@0 eesmaails; eaqysieeaieruaud
msms%a:@goesa(ﬂ%gg @MOAIMHBHUB al@ln6rTlend.
(i) v agmuoeiea: ©206™m. alaomaw’ adebla]lendmd pegudlesm agayo

MLIMIOTIE MWEBBRE. DN PUBEIYFT
(i) v aaimuneiea! AIEEHSHEOSQe ETLAIMERSOSQ HEATDOTIRISS

all®eem. aidrblaflesmaila’ Mdendd @R ©eEla) afajd MW al@layoeEREo

OO OUBOgTTO
(i) @ecldlaflenqyday’ e6m HREIMIMV. HaloglesgDMTInEs MWBRU HIGd

OUBeIgMo

A:-Only (i) & (ii)
(i), (i) 20@o

B:-Only (i)
(i) @a0@o

C:-Only (ii)
(ii) oo@o

D:-Only (ii) & (iii)
(ii), (iii) @0@o

Correct Answer:- Option-B

Questionl4:-Consider the following statements on Green Revolution in India :
(i) Green Revolution led to environmental degradation.
(ii) Green Revolution enabled India to became self sufficient in food grains and
exporter of
agricultural commodities.
(iii) Initially Green Revolution was mainly directed to increase the production of
commercial
crops only
(iv) Green Revolution resulted in growing interpersonal inequalities and inter
regional
disparities in India.
Which of the above statements is/are correct?
myieal addlmalyueomanclyss @IeYaoRaN JIRIAUMEB:UB ald@lwemless: :
(i)  aodomalgiie aidlmudiel movwomvieaes My
(i) comywomEERElaje ©0d:lE: ARERHEOS SWaCIDleje TVIWoalEPG®
86HRlEIM an@lmAlgiQle EDAMOW (@JOqJa0Es
(iii) osemoolcd ey Qlg®:86s 2alEMe 0@ AIdEUla]esmM@mosm
a0@ImAlgjal @WoMaoQe MIBERZUBl4I@
(iv) aodmalgian samiiod UBBMAIRM aleME @RIVAGIEBRUBES.
@OCBWIlH @RAVAMIEERUBER HOEEMAIW
RBE@ 06D JTROAMBEI® @6 tdl?



A:-Only (i), (ii) & (iv)
(i), (i), (iv) oo@o vowl

B:-Only (ii)
(ii) @0@o

C:-Only (i), (ii)
(i), (ii) oo@eo

D:-Only (iii)
(iii) @0@o

Correct Answer:- Option-A

Questionl15:-Which of the following is/are the schemes launched in India with a
vision of extending the coverage of irrigation and ensuring more crop per drop of
water in agriculture?

(i) Paramparagat Krishi Vikas Yojana

(ii) Pradhan Mantri Krishi Sinchayee Yojana

(iii) Pradhan Mantri Fasal Bima Yojana

(iv) Biotech Kisan Scheme

LRICTV2MONOMBO al@lW] Qllajeieagammaiime @llola am ©as] eagsoBlm &gom@d allgal
D0 0BBM TIPS B:080|06SIOS DMV @RYEEly] aAlRLIB:UB a@@I6M?

()  aeMIEIN® Gl alle:om) cwomm

(1) @womaEd gl qvemIo©S oM

(i) @woma@s] anmumd enllad comm

(iv) encossss @lavoad mle

A:-Only (i) & (iv)

(i), (iv) @o@eo
B:-Only (i)
(i) 20@o
C:-Only (ii)
(i) @0@o
D:-Only (ii) & (iii)
(ii), (iii) 20@o

Correct Answer:- Option-C



Question16:-Which of the following statements is/are correct about GST?
(i) GST is a multistage destination based tax
(i) Import of goods or services would be treated as interstate supplies and would
be subject
to Integrated GST
(iii) GST will mitigate the ill effects of cascading of taxes
(iv) Prime Minister of India is the chairman of GST Council
elag MO ERa]4f ML OQMAUVIG og@mosm (oal?
(i)  =Hagmdl 8@ audsleayed’ eawmilemaumd @oslmunomaoeslQss Mle:oilwosm’
(i) AIREBHBESEWO GTVAIMEEBBESEWI OSBRI BRADBTVMLAOM
Qll®EeMEERSIW| HEMEMIEBHQe  TVoEIH® Hlag)ryles
QllewRIERBHQo 6).21Qo
(iii) eflagmyl dd decleges @osrpasluilemo gauyaneimnud angiedlesam
(iv) samym @womaglwos lagmyl esvsmmilelondo e.swadam

A:-Only (i)
(i) @0@o

B:-Only (i), (ii) & (iv)
(i), (i), (iv) @o@o

C:-Only (ii) & (iii)
(i), (iii) oo@o

D:-Only (i), (ii) & (iii)
(i), (ii), (iii) oo@o

Correct Answer:- Option-D
Questionl7:-Which of the following is/are wasting assets?
(i) Minerals

(ii) Solar and Wind energy
(iii) Forest and Wildlife

(iv) Water
@96 OQYMAUDIB oB®IET @RIV aldLILBMN@® ?
(i) woosmud

(i) eaumeEIBEma)e 07 V.
(i) cunayo aimnyedlollego
(iv) easso.
A:-Only (i)
(i) 20@o
B:-Only (ii) & (iv)
(i), (iv) @o@o
C:-Only (iii)
(iii) @0@o
D:-All the above (i), (ii), (iii) & (iv)
pegldd alosmmaewe. ((i), (i), (iii), (iv))
Correct Answer:- Option-A

Questionl18:-Which of the following is/are a NITI Aayog initiative under Aspirational
Districts Programme aims to provide home care to COVID 19 patients?

(i) Saksham Bitiyan Abhiyan

(if) Surakshit Hum Surakshit Tum



(iii) Pradhan Mantri Suraksha Bima Yojana

(iv) Ayushman Sahakar Scheme

ed00llaw’ 19 eeoulle:udes ande OBWA M@0 alemAlsan @rMfleratm aslmdle: sajowaday Sdleiss
Tlo@RYEWIUY Mo@oo MIOLA]OQMAURIG aR@o6T?

(i)  cvodse Nl @REIIM

(ii) YeEel® ate MYESH® ®o

(iii)  womaEy myeswd enllao cwomm

(iv) @@ Mand:0d Lo

A:-Only (i) & (ii)
(i), (ii) 20@o

B:-Only (ii)
(i) @0@o

C:-Only (iii) & (iv)
(iii), (iv) @o@o

D:-Only (iv)
(iv) oo@o

Correct Answer:- Option-B

Question19:-Identify the true statements with regard to the fundamental rights in
Indian Constitution :

(1) Article 14 is available only to citizen of India

(2) Article 19 is available to any person on the soil of India

(3) Article 25 is available to any person on the soil of India

(4) Article 28 is available to any person on the soil of India

D cEEMeaISMEloa!l 6H2Dails:00IE:0UEBRSRI] NIMWeS WINIBMA JTYIAUMBUB @@loyclQys !
(1) erAglesld 14 enamym ealned M0@ER AIRYAIE:

(2) epdglesid 19 spamyqes aerleies «gemom aemiles. aiimosm
(3) eRAgesiud 25 pamyges aele)es «Ee®mIm ayEiles. LI
(4) @pdslesiiud 28 ames aarlaBs RO QlEDIaR. LIBYA06TY
A:-(1) & (2)
(1), (2)
B:-(2) & (4)
(2), (4)
C:-(1) & (4)
(1), (4)
D:-(3) & (4)
(3), (4)

Correct Answer:- Option-D

Question20:-The establishment of All India Khadi and Village Industries Board is
related to
80ud amy 61061 @R’ afleg)ed” spmMawaJIMY’ GeNIDABRROW MIMLEAIS®IETY

A:-Article 40 of Indian Constitution
O BEEMARISHWeS @RASlEHIud 40

B:-Article 42 of Indian Constitution
OB REEMARISMHQES @RABSESIUd 42



C:-Article 43 of Indian Constitution
EOAMYM BEEMARISMWQYES @RS 43

D:-Article 45 of Indian Constitution
MMM BEEMARISHYES @RABSlESIud 45

Correct Answer:- Option-C

Question21:-Which among the following is a ground for impeachment of the
president of India?
@96 OQYMAURIB oZ@6M’ HANYM JTWMBCIOM oalls] ©21QPIMSS B:0©6Mo?

A:-Violation of the constitution
@(OGTT)OEIS(D@JQS Blo2RIMo

B:-No confidence of the legislature
dloacvewilad allvendudley

C:-Dissatisfaction with the cabinet
2EIMREWISSS @@

D:-All of the above

QHEIOB O AUOWEIo
Correct Answer:- Option-A

Question22:-Find out the wrong statement with regard to the office of Governor

(1) Governor is a part of state legislature

(2) Governor has power to appoint judges of state high court

(3) Governor has power to nominate members to state legislature

(4) Governor has power to appoint his council of ministers

1AIBEMQeS 630a0lMYA0QS NIMLEAIS HDQIW JTYIQUD HEEMRIDH,

(1) vadepd avs.munom mleamewes cowadsy

(2) vomunom eeanemosel mEinoee mlwadlendm nadepadas @ouwle:0ensmE

(3) uemrunom Macuewlealss @RMEREE MIAMIBEEUB. 62IQYINSS @RUSG:I@o
WaIReMOle6E

(4) vadepdses meno aglmeew mlodlenomes @Ule:0eRemE

A:-(1)
(1)

Correct Answer:- Option-B

Question23:-Whom among the following is the chairperson of GST Council?
@96 OQYMABITB @RI =l agaV’ sl ee:edadlalendo @rrLieHM?

A:-Prime Minister of India
MM (JWIMAQD)]

B:-Finance Minister of India
HAMIQYOS WMAQD)



C:-Union Minister of State (Finance)
MVEMLAIMMVANAET] (WM EIEY0)

D:-A person elected from the members of GST council
dlag)mdl esvemmilalenl @r.nEREIT Ml 6mEEIMFES S BEIUD

Correct Answer:- Option-B

Question24:-In which year the special status of Jammu and Kashmir was revoked?
aRD QIBaUR0EM 2307)-B:0UFIBIOMO (eMiBalBAl 0GR ?

A:-2017
2017

B:-2018
2018

C:-2019
2019

D:-2020
2020

Correct Answer:- Option-C

Question25:-Name the rescue operation of Kerala police during Kerala Floods 2018
2018 el ecmes OASBOAIED TVAWOW EHESBI GaldrlMIlOMO EAUAUBTHMOHOMO Gald

A:-Operation Jalaraksha
6300|G0nUM LWRICHH

B:-Operation Rahath
6300|G0aUM @aODIY

C:-Operation Karuna
600 GOUD & @36

D:-Operation Madad

6300/G0aUM 230G
Correct Answer:- Option-A

Question26:-------------- is a unified mobile app developed by Kerala State IT Mission
that offer 100 e-services from 17 different state departments.
------------ EHE8 GIRY ©af)s dlaumd allemIla]e IS0 B GHlR® HRIHEEMIBE @R lEHaUMIET), GG

[e/oXe]

17 aymymy aveaunom Qudaodgl@d mlan 100 eo-earuaimemnud anwome eaigp.

A:-MAPATHON Kerala

20 |COMINS CHOS

B:-mKeralam
aff)oCh @80

C:-Esms
EDag)TVag)oag)my’
D:-GIMS

Hlomy’
Correct Answer:- Option-B
Question27:-Doctrine of ------------ is responsible for judicial control over



administrative actions.
BEEMAIERIW (JAIBOMMEBRS6S amd Bl MREDEMOEDIM 2OMEAUIEQIET --=-=------= aJleRLID.

A:-Judicial Review
2 WlaHy@3 @OQICRIIE:Mo

B:-Rule of Law
mloa Aoy

C:-Delegated Legislation
mlamldamoeme

D:-Separation of Powers
«;Taw'hﬂaorascrags)s cadml@lal

Correct Answer:- Option-B

Question28:-Official Language Legislative Commission is situated at
63e3UIle @axd Mleamldmosm @edlauad mudloile.agmoy

A:-Kollam

68080

B:-Pathanamthitta
Al M@

C:-Thiruvananthapuram
OIBUMIJO0

D:-Kozhikode
GHIYICERHIS

Correct Answer:- Option-C

Question29:-Institute for Watershed Development And Management Kerala is
situated at
@oﬁq};'l%g” 630a0 Q0SBOHW HWQRINEAMO @M 20eMEERMA’ edheg mudlaleayano

A:-Ottapalam

63Qal0Blo

B:-Chadayamangalam
2lSQAocN,lo

C:-Varapuzha
OJ(OOn‘iJS’

D:-Pappinaseri
aldafmleg

Correct Answer:- Option-B

Question30:-On which of the following grounds, the validity of delegated legislation
cannot be challenged?
96 0QMAURIB g6, MlQem Mlamldmmosmamlando TLIRMEV G208k .aIPIM Elwlel?

A:-Unreasonableness
QBOIRaCIMo



B:-Arbitrariness
afaledloo

C:-Malafides

DLI66)aNUIEUd

D:-Violation of the principles of natural justice
DO Noles OOIEEEeSs LleaiMs

Correct Answer:- Option-D

Question31:-Name the project started by the Kerala Government for the
rehabilitation of unwed mothers and their children.

@POIAICI®EIW EPIMRIGOSW @OAUMES GHSBEEOSQP aJMEUWIADMEBTIMIW] eBes MIBHIB @RY©.El,)
AlRLOIQYSS Gald’

A:-Snehita
(g ttel ()

B:-Snehasparsham
BMANMVBURo

C:-Asraya
GEIEl)

D:-Snehahastham

Correct Answer:- Option-B

Question32:-The present chairman of Kerala State Administrative Tribunal
eHE8 GIRY @oclmlempdlal 6’]6m§6meﬂ@c780 DG |IPOOD 6 2IQ@ADIMD

A:-C K Abdul Rehim
aVl. &>, mm%ua 0a0lo

B:-P.K. Keshavan

all. &, CHUQUM

C:-M.K. Zakir

af)o. O, VLD

D:-Benny Varghese
e6niaml Ayl

Correct Answer:- Option-A

Question33:-Name the health insurance plan and accident death coverage for the
guest workers in Kerala

CHE8ODIOR!I @Il HISIRINEHBEB88 @REIW @aﬁosuéoaam)" OMIOMOWe @IS BEEM
AlRlPBHUQYOSQo Gald

A:-Niyukti

DlQsol

B:-Kaivalya

OBl

C:-Awas
@YUM

D:-Ayush
@R



Correct Answer:- Option-C

Question34:-In 2005 a new employment availability scheme has subsumed the
Food for Work Programme in rural India. Which was that programme?

2005 @ 8@ oJolw eI IO alRL®] Wodlem snmmywileel celErnIBes EBHUM al@lalos]
OUBOUSODY. BDOVIBMD @) al@lalos]?

A:-SRGY
ag)MERAHleeq

B:-RLEGP
@R)Bag)@denedlal

C:-TRYSEM
Sley @66 Qlag)TVEDag)o

D:-MGNREGA
af)oBlag)B@R)@enedlag)

Correct Answer:- Option-D

Question35:-The Protection of Women from Domestic Violence Act was enacted in
the year
0IBaOlB aflluomoml@d mlmess n‘g’hﬁagas MoEBHMMIWAe MleInld QIm QlBaHo

A:-2004
2004

B:-2005
2005

C:-2006
2006

D:-2007
2007

Correct Answer:- Option-B

Question36:-The first Kudumbasree neighbourhood group for transgenders in Kerala
is known as
CHESOTIOAI SIMBAVHRMAWQM:UILHIQYSS @GBSO B:GoNIYD] BRWMLBFo af)MOlWOASINOY

A:-Thelima
eooeln

B:-Thalir

®oelld

C:-Mazaville
acvoailegy

D:-Manaswini
amauilm]

Correct Answer:- Option-D

Question37:-Which statement is incorrect?
AR® JIOQIM@IENY 6)(079”?



A:-Cholera is caused by a bacterium
B3 NIV GRINIET GHIBO DEMROBIN®

B:-Measles is caused by a virus
8@ HOQOMY Gaindem’ AlVledmy’ 96rRIG:aM@

C:-Malaria is caused by a bacterium
03 NIOKICI Geindem acaIClw OMEIG:aMOY

D:-Ringworm infection is caused by a fungus
B Ao GRINJEM Clot) BRI @RENVENIOW DEMBIBIM@

Correct Answer:- Option-C

Question38:-'Umami' is a
'onodl' agmoy

A:-Part of cerebellum
OILAIOENILIOBIOMO @I

B:-Sense of taste
@32lleeniowe

C:-Retinal ganglion
60gIMm3 1Ilead

D:-Muscle stretch reflex
aaVled &4l Glagdy

Correct Answer:- Option-B

Question39:-Read the statements given below, and identify the correct option :
(i) Rickets in man is due to the deficiency of calciferol
(i) Perinicious anaemia in man is due to the deficiency of cynacobalamin
(iii) Pellagra in man is due to the deficiency of retinol
(iv) Beriberi in man is due to deficiency of Vitamin 5,
@O6YDAIBIEBMM (JTPIAUMHUE QOW4] WVAIWIW GBoalnud @Gl ClQ®: :
(1) ameauyrilad oG BHBEMNRIBMD BI@MlOanc0oglemo @oal gainosy
(i) amRauymIed BaIRlMT oy @RMINW OMIGIM®Y EETVEMICHENILIAHMO
&0Ql Qaindem’
(i) amayild Oalgjow eMRIGM® eodlemoglando e:oal geinosm’
(iv) amauymied esndleamid] psmeogm@ allgoda B: &m0 @oal gaimosm

A:-All are correct
af)8Jdo LOEIIET

B:-Only (i) is correct
(i) 20@o Vo@lwI6

C:-(i), (ii) and (iv) are correct
(1), (ii) (iv) eeloem’

D:-Only (iii) is correct
(iii) @0@o voBlo6MY

Correct Answer:- Option-C

Question40:-Gigantism is a condition
ElD0BHIE af)0m @oalrun



A:-caused by excessive secretion of somatotropin
6TVIR06QIESIAlOMO @RAlMAO® @VAIEM. galo MecOlERM

B:-caused by hyposecretion of TSH
Slag)Vag)afleado  ©6anea eI laUM &0B6Me TVRANERMT

C:-caused by excessive secretion of prolactin
GJoao@ledo @RAIMAI VAIEM.e Gale MeEAIlERM

D:-caused by excessive secretion of gonadotropin
GUIEMIGWIESIAllOMBO @RAIMAI® VAIEM. GRINIEM M.cQlEsMD

Correct Answer:- Option-A

Question41:-From the following identify the green house gas
®269a|0QMADIE @AM a0EIMYADQ B0 @I@]4IClQe:

A:-Helium
aOleillo

B:-Oxygen
a0g3lzd

C:-Methane
dleinm

D:-Sulfur oxide
MUUBand BIOOGW

Correct Answer:- Option-C

Question42:-Normal systolic pressure of a healthy person is
@REEINIYSS BTG QBOIQES MLIWIEEM MUleMoslE: adGo

A:-80 mm Hg
80 mm Hg

B:-100 mm Hg
100 mm Hg

C:-180 mm Hg
180 mm Hg

D:-120 mm Hg
120 mm Hg

Correct Answer:- Option-D

Question43:-Svante Paabo got nobel prize in physiology 2022 for discovery of
------------ &6Mgallsla@lay aue alneming’ 2022 @ adimilcwogsioicd emosn@d muenome eIy

A:-Receptors for temperature and touch
@®alMlaIQe MBWMOMIMPASS ClrVaIQQE:UB

B:-Hepatitis C virus
6)00:56)6)(3(3’]0\5’ mJl eeaomy’

C:-Previously unknown hominin, Denisova
g @ROlWe SOOI Gan0almIm, eawmlemoal

D:-How cell sense and adapt to oxygen availability
OTV@B af)6BREM BIINM AIBKOQAIY] HAIMBOMOSTO



Correct Answer:- Option-C

Question44:-'Break the Chain' campaign is related to prevent the spread of
'eEs B ©a1M' (@ald@EMoe ------------- Qigoaflesm ms@omoem’

A:-Rabies virus
ooenilmy’ eeaiomy’

B:-Monkey pox virus
285 Galdgy OOAUOMY

C:-
Hepatitis B virus
8a0aeegdlmy’ B eeaiomy

D:-None of these
@O.I@@O(TT@Q%;

Correct Answer:- Option-D

Question45:-Which among the following universal constants has the dimensions of
angular momentum?
@®IOPaOQM MIBQUG IS MAlEIB:ERSITE AR@IE EHITTVIQ @RECAUNDTIHBO GRSOEUD OSB!

A:-The velocity of light

(@BHOPOMIHMMO CQUND

B:-The Boltzmann's constant
GENIUASMIOMO LAl

C:-The plank's constant
oo crudledgso

D:-The Bohr magneton
GENIOA@ IOUNQEND

Correct Answer:- Option-C

Question46:-Light exhibits both the wave-like and particle-like characteristics. The
particle nature of light is revealed in

(@H0UBo MBoUNOYo EHEMIBHQe GalIHRIYSS MLIRIAIMIONGUBHMEUB (I Slaflenmme. @@:IwOBlnado
BOEMIBHITMVIRIUO +rvvnersrness eQIglealgomIl.

A:-Polarization
@oﬂzﬁa(asmo

B:-Photoelectric effect
GaN2E30aIld; (@JBI

C:-Kerr effect
OB (@JEBIU

D:-Interference
EDS6)AISDD

Correct Answer:- Option-B

Question47:-Let "F'" be the gravitational force of attraction between two objects.
What will be the gravitational force between these two objects if the mass of one
object is doubled and the distance between them is reduces to half of its initial
value?



"F'" agomo eeng QUTRHW ©a2le)Ss ERBAUMOTTIOMO DHB@IGBGaUEM FILIRET. 3G ATRAledo
aflemwe OESIVWIERHQ @R OMIR88 Goo BRMIOMO IR FRIDODIOMO AlB:EIIV] B:OQYBQYo
©2IQOM OV O AUTRESES DBOIIBBaUENENICI0 af) IR0 ?

A:-2F
2F

B:-4F
4F

C:-8F
8F

D:-16F
16F

Correct Answer:- Option-C

Question48:-The India based Neutrino Observatory Project (INO) is proposed in
2019. In which place the INO research facilities are established?

Dy @OSITLOAMBIE] MySIemo aeniTudeaId] Hlajosg (INO) 2019 @ 0ildequdlemeaislmme. ogoy
qunaiemaem’ INO vneaiauem earuns:eyErRud cundai oy

A:-Theni, Tamil Nadu
eoml, ®algos’

B:-Kotta, Rajasthan
G305, IO

C:-BARC, Mumbai

6NIOBS, Po&)O6N

D:-Mount Abu, Rajasthan
OQDENE @6NY, EILNLNID

Correct Answer:- Option-A

Question49:-Which of the following electronic configuration does not obey Hunds
rule of maximum multiplicity?

@IOPOQM aB@ EDRIGRHIEMIE: GH06MablNENUMOET alE@NIW] LETIM@ICBIHMO a0eMEmY’ Mlwao
@RAMVEIEIOD® ?

A:-[t]
B:- ZENI
C:-L[7e] EIENEN
D:_@

Correct Answer:- Option-B

Question50:-Elements with outer electronic configuration ns:nps are
6NI0a0Y EDRIGHIEMIS EHINMBadlNEOUMB NSNPS OSS *QISEEBRUD

A:-Alkaline earth metals
@RYTIEOOLIM o[RBT GRIIAOEBRUD

B:-Transition elements



SOMVlaHUMD afeleamomy’

C:-Chalcogens

21@CHNIVABMY’

D:-Noble gases

emMoenilud QI B>683U3
Correct Answer:- Option-D

Question51:-Which statement is correct?
aR® (JTRIAUMIET (o@I?

A:-NH-:OH is a strong base
NH:OH & wemaow @rslomowosm’

B:-CHsCOONa gives acidic solution in water
CH: COONa saiggomlad @og @] made:m

C:-CH:COOH is a weak acid
CH: COOH a®m gdmieimow @rymilawosm’

D:-NH-:Cl gives alkaline solution in water
NH: Cl scissoolod @roadseeeid i@l made:amo

Correct Answer:- Option-C

Question52:-Nobel prize winners in Chemistry 2022
2022 a1 @u®m@o EMIENIA TLARIM GRMIEHUD

A:-K. Barry Sharpless

. 6NIOEI sUIBaleRImY

B:-Morten Meldal
CROBS0 HIOD@ID®D

C:-Carolyn R Bertozzi
&eenelm @ryd esnidesoayl

D:-All of the above

GAMAOEOQUSHWEJo
Correct Answer:- Option-D

Question53:-What is the theme of Kochi-Muziris Biennale 20227
@3 af-gmildlmy’ enflmoeal 2022 e&mo @lo agomosm?

A:-Possibilities for a Non-Alienated Life
@RMINUBH GlEHOSOOD HlalmOTRSs TLIWKEE:UD

B:-In Our Blood Flow Ink and Fire
MIYES EBMEJAUINODODITE NeHlQo @IQo BLH:M

C:-In Your Veins Flow Ink and Fire
mleges Mleslod antlQp ol Bgs:mo

D:-In Our veins flow ink and fire
mes MleGEIT3 alQle @IQo BLH/M

Correct Answer:- Option-D



Question54:-P T Usha became the President of which sports organization in
December 20227

2022 adlovuosnidl@d afl.sl. 9ay o@@ :0@le MuscaIsm@es @jrdlawadowi?

A:-Athletic Federation of India
@M AIGlE: ©aNWEOHM 6B30a0 SO

B:-Sports Authority of India
GRSV @REMICIF] 630a0 DY

C:-Indian Olympic Association
M BSIMile @REMIMIlEaUm

D:-Olympic Association in India
as8lnile;’ @perLIMIleaHm omyId

Correct Answer:- Option-C

Question55:-Tomb of Sand, a novel, won which of the following awards?
6S006NI" 63000 MVLIMAW )M EMINUBB MO aG® @AOBWIET emslom?

A:-International Booker Prize 2022
DRAMOUEM@ Njerd eemy 2022

B:-International Booker Prize 2021
DRBAMoaHeM@3 eyend eerimy 2021

C:-Booker Prize 2022
njend eerjay 2022

D:-JCB Prize for Literature 2022

emaVlenl 06T 6andd elgenqd 2022
Correct Answer:- Option-A

Question56:-Which of the following is correct with regard to India's first Metro
Railway?
DI @RYBEOD HACSI HOWIGEAURQRRIV] MIMLOAIS MIOLAJOQRMAIRIB og@o6T Lodl?

A:-New Delhi 1982
mé(w(oisn(ﬂ 1982

B:-Kolkata 1984
eeommom 1984

C:-Mumbai 1982
Qoeeeny 1982

D:-New Delhi 1967
mé(w(oisn(ﬂ 1967

Correct Answer:- Option-B

Question57:-When was Malayala Aikyavedi established?
)8 0L ARIWIB Oag)@:ieldl MuNdalmaowe?

A:-November 2009
maleerud 2009

B:-October 2010
seoend 2010

C:-October 2009



seond 2009

D:-February 2009
®anEQIa] 2009

Correct Answer:- Option-A

Question58:-Which of the following is true?
6L 0QYMAURIB aZ@o6M (odl?

A:-E-mail addresses are not case sensitive but e-mail passwords are case
sensitive
0-60@lad allainaveEBud eam eaLMaUIlal @) agiMImS 0-eRWIBE AldMY CEAURGUE CHIY
eauadmildlal @rermy

B:-E-mail addresses and e-mail passwords are case sensitive
s0-6aWI©3 ()J'Ialomaengo e0-6aQfl@3 alomy CQIRBSo EHAY emumadldlal @ryem’

C:-E-mail addresses and e-mail passwords are not case sensitive
-3 m’lelomeersgo 0-00@@8 aloqy CQIURBSo CHAY equadmildlal’ @rg|

D:-E-mail addresses and e-mail passwords need special characters
-600lad allenaveEBudER. -6a@lad aldM) CAMGWBER (ICMiD: ITIGHEBRU @RNQIGBYRETY

Correct Answer:- Option-A

Question59:-What does Anthropocene refer to
@RBEADIEMIM ag)amlom@osm ayaflaflesmmay

A:-1t is another name for anthropology
MEAUUBUBITYATIOMO AOQIT Enl@IEM EODY

B:-It refers to the study of human extinction
ED®) B AUetdMIVEDDER|YBS alOMOO® MYailaflenmo

C:-It is the current geological age in which human activity changes
environment
2MHUGMBO (JAUBODMo al@lrudlmlew @00 amleniear @alwwomy Quadsmioy

D:-1t is the name of a film by Hitchcock
OO a0l4|8HIEBIOMO 3@ MIMIDQYOS Galed6m

Correct Answer:- Option-C

Question60:-From the following devices, which one is not a pointing device?
@96 0QM WlOOAMIBSIG oG Cald@Blu’ Aleenim) @rejoCm®?

A:-Mouse
QMM

B:-Joystick
620" (il

C:-Digitizer Tablet
ldloegmud soenl’ eaig

D:-Light Pen

6RIg Ol
Correct Answer:- Option-C

Question61:-Process of reading data from permanent memory and writing it to
computer's main memory is called



qudleadw eamdlaied mlan’ awog Alese:®o de;(mégcﬂ@a%o @WIM 62CIWIERIEH) af) §DBQo ©.21QM
&l @rolweagmoy

A:-Saving the data

awoQ cauailoty

B:-Loading the data
awoQ ealnauleuy

C:-Writing the data

awoQ ©e0gleu?

D:-Reading the data

o Alaufleuy
Correct Answer:- Option-B

Question62:-Identify the protocol primarily used for browsing data in Internet
RAOMGIGE WoQ HEYDIIuY H.aIGYMGIM (@JolndllB:200] DaleIUTlERmM eajoe50esn0ud G@laCly®

A:-FTP
ag)agdlail
B:-TCP
slndladl
C:-TFTP
Slagagladl
D:-HTTP
ag)afslslall
Correct Answer:- Option-D

Question63:-Machine learning is a subset of
------------ M0 9al0llcon@osm enadlad ealermilouy

A:-Deep learning
@RYLOTIRBES al0Mo

B:-Artificial intelligence
@RRSladlaumd soadaileadmy

C:-Computer vision
oe:(m,ggdi Qllouad

D:-None of the above
@O.I@@)O(TTO%;

Correct Answer:- Option-B
Question64:-Choose the language which is best suited for data science?

aW0Q MMAVIMN aBQQje GRMVEWIWAIW BIaH ©@EEEOTNF LB
A:-PHP

allag)gfall
B:-PASCAL

moa}&)«%
C:-R

@@



D:-Ruby
Qenil

Correct Answer:- Option-C

Question65:-Under the Sexual Harassment of Women at Workplace (Prevention,
Prohibition and Redressal) Act, 2013 "unorganised sector" in relation to a
workplace means an enterprise owned by individuals or self employed workers and
engaged in the production or sale of goods or providing service of any kind
whatsoever, and where the enterprise employs workers, the number of such
workers is less than

e=0aflmunaio Mile:decileow ekl allawme (ms@md, mleedowms, al@laneRUW) Mlwn., 2013
@J@0@0 emoell MNeI@IEl MIMWEeS ' @RIVCLISID GaaIal" afN® QAUBTIBSHSEWI NI H@IFITS
©.21QM 6)@0&91&]0@1@:%@8@@0 9SOMNOWIRB88D0 MLOWMEBBSOS o@dalomamlealn allddajmailealo
a336alSIElEBMEMI BRHQ BE MVoRAIEM. aB® GEOVIAISS GIVAIMQYe MTB:B:Q0, af)BRABEOSITY’

emIvlensl;hes mlwalasarlsom @mqgm'lsm”, @ROM®o @@ogﬂelog%eage)s af)6[Ro ~=======~ BHOQIWIGERo.
A:-20
20
B:-10
10
C:-25
25
D:-50
50

Correct Answer:- Option-B

Question66:-Under the Right to Information Act, the Chief Information
Commissioner and Information Commissioners of the Central Information
Commission shall be appointed by the President on the recommendation of a
committee consisting of

QllaieINIB0e MWAEJHGHIG., EH@3QNMEINIGIWR GailatmMleal g6y AlIEIE:IU &aRlaHUeMa,
E0MBaNBERUM BHoloUeN@ afMlQIESERM 6@ HICIQeS Wald@udldIGe BIaYal® Mlwales.

A:-The Prime Minister and the Council of Ministers
QWOIMAQDIQo ACTHITVER®Yo

B:-The Prime Minister the Chief Justice of India and a Cabinet Minister
@Woma@E LIS allad BAYIMYe 6@ Boenlmg’ aEsla.

C:-The Prime Minister, Leader of Opposition in the Lok Sabha and a Union
Cabinet Minister to be nominated by the Prime Minister
@Wwoma@dl, caNG:MRWINAI (@TalBUEN@®IN!, 8@ EH@M ®oenlng Ayl agamlaee @woma@y
Mo2MlB3eZUWR0 6).21Q)0

D:-The Prime Minister, Leader of Opposition in the Rajya Sabha and a Union
Cabinet Minister to be nominated by the Prime Minister
@Wwoma@dl, EITYTIELIeAI (@TalBUEN@®IN, BT EHM &oenlng aadl agmlaee @wIma@y
Mo2MBEFUW0 6).21Q)0

Correct Answer:- Option-C

Question67:-'Stipulated time limit' under the Kerala State Right to Service Act, 2012
means
GHBS MVMLAIM EIVAIMIAIEIUB Mae 2012 @do@e Mlualmamua@al@lw] agma



A:-The maximum time limit notified under section 3 to provide the service by
the designated officer or to dispose of an application for such service
Qe OEBPRUMAVNG GILAIM. M@HIEMI BRELIEITE BROMEo GIVAIMOTIPSS @REAIGH @IBl0EHIEMO
088 HTVHUMD 3 ()& 0®o mo’]@ﬂg’lgg@ alE20QIW] VAW AIBIWI

B:-The minimum time limit notified under section 3 to provide the service by
the designated officer or to dispose of an application for such service
TMQEm OEBPRMAAG GILAIMe M@BHIEMI BRELIEITE GROMEo GILAIMNOTIPSS GGG
@BofoBM@IEMO OAVEHM 3 (@000 @CWIlafl388 a@Q0j 0T MVAWaIEIW]

C:-30 days from the date of application

@ReCaleH 5 PYd@ go@d 30 Elaime

D:-60 days from the date of application
@RGaleH 5] QY® go@d 60 Elaire

Correct Answer:- Option-A

Question68:-The Chairman and every other Member of the Central Administrative
Tribunal shall be appointed by the President of India after consultation with
eauads@ @plalearydlal eesenemealedo 6a1daeMQe BEQLI0 @RNERHSQ SDMB

@mﬂmd%mocm’l &Sl0eal0 all gleUoaHo ~-==----=--- mloadlese
A:-The Prime Minister

(@JWIMDED)
B:-The Vice President

9alEdaYald)

C:-The Attorney General of India
OMMQES @PEQIBET] LBMOTS

D:-The Chief Justice of India
OMYQES aflad” @aUloy’

Correct Answer:- Option-D

Question69:-Under the Maintenance and Welfare of Parents and Senior Citizens Act,
2007, the application for maintenance may be made

2007-001 ee8leoengese goildm earne@ImesQ 62@IMMMMY @RMW HAIRENWE ER &
(@0®0 HAQIMMMBAV @oGISH TARlErdq)am@osm’

A:-By the Senior Citizen
QOIBOM EalDEM PEEUM

B:-By a Parent

esHl®oQl gesum

C:-An organisation authorised in this behalf
oINS GRWIB000SOBIW B@3 MUNJalMo

D:-All the above
emﬁcﬂomm@@%oo

Correct Answer:- Option-D

Question70:-Who is presently the Chairperson of the National Human Rights
Commission, India?
@REeM dlalnleal amym ¢EUTIw AMAUPAIBIW HeXlUOMBO 6B Galgend?

A:-Justice Ranganath Mishra



LAYV @etOMOLN allwd

B:-Justice Arun Kumar Mishra
AUV’ @RM@EM &:20@ dlwe

C:-Justice H.L. Dattu
LRI af)gf. af)@d. GO

D:-Justice S.A. Bobde
LAYV’ ag)aV’ af). GENIOENIHAL

Correct Answer:- Option-B

Question71:-In a furniture showroom, a chair for sale is marked with a label price at
25% discount on its printed price. In June, the showroom offers a 10% winter offer
on the label price. A customer bought the chair for Rs. 810. What is the printed
price of the chair?

8@ an@emlayd eaxoQallmd, Qo MESs B8 &M BRMINMO @RSl alleiiad 25% sldlalad ealmnicd
alleilmd @RsSWIssq|sovlwldlesam. @emlmd, caoge calniad aleiled 10% all®ad soand anusom.
©aQM. BG 2al6eIBMIA 810 @I &EME QEE. agBI HETVEWSS @ISyl allel ag@@oem?

A:-900
900

B:-1,200
1,200

C:-950
950

D:-1,250
1,250

Correct Answer:- Option-B

Question72:-Starting from a place A, Ramu walks 200 m towards North then turns
towards right and walks 100 m. After that he turns right and walks 80 m, then turns
right and walks 50 m. The current position of Ramu with respect to A is

A agom auneigomloe osesdl, ©0g aisesnds 200 dlod msar’ arieomog dl@leom 100 dlod msasmo.
@R@Mewats QlItomIg MIdleom 80 dlod msesme. @sBmY arleEmos dildlstoy 50 dod msesme. A
Q@20 NITWee]S @IPAIEMO gDEalove ™ Mlalalds

A:-120 m towards North East
aises eless 120 dlod

B:-120 m towards South West
oo alsleomoc 120 dlod

C:-130 m towards North East
aises sless 130 dlod

D:-130 m towards South West
eos&alisleomod 130 dgd

Correct Answer:- Option-C

Question73:-The value of 55 + 5 + 75 - 545 +s +
7z IS

_1 1 1 1 _1

i tow tEwm wesm tee T

7 Qele




-1

B:-1
1

C:-2
2

D:--2
-2

Correct Answer:- Option-D

Question74:-Find the odd among the following :
©®269aj0QMAXIE @l BQLIV® dengallsless

A:-TUNISIA

gorilosdy

B:-SENEGAL

HAVMWNDD

C:-DENMARK
HOUMRIBHE

D:-NAIROBI

M QEO6NI
Correct Answer:- Option-D

Question75:-If
(012525402 = (g z5=+2 | then the value of - is

2x+1
(0.125)24”*&%

= (0.5)°2 @RI © OO YLl

A:-5
5

B:-1
1

C:-2
2

D:-3
3

Correct Answer:- Option-C

Question76:-A clock loses 30 seconds in each hour. If the clock is set right time at
12 noon on Sunday, what angle will the hour needle and minute needle make each
other at midnight on the same day?

630600 n6mlgaclaje 8@ eoss 30 OIVEMW MayealsMo. MOV D4l 12 aemles egoss wwElwow
VOO m@@f’loe;(aﬂ_rﬁlgs)mae{lm%, @RE® GlaIMe @PARLEIGIWIGE aeMlEd@ myalwe dldlg myalQi agoy
@RyoUilglelodEs0 !

A:-36°
36°

B:-33°
33°

C:-30°



30°

D:-72°
72°

Correct Answer:- Option-B

Question77:-Let p and g be two positive integers. The HCF of p and g is 16 and the
LCM of p and g is 143 times HCF of p and q. If one number lies between 100 and
200, then the sum of the digits of the other number is

P, 0 agarlar eE catoaudlal aydenamvcsuydgoem. P, 4 agoslages HCF 16 @msm. p, 4 ogardlages
LCM 143 ases’ HCF @ryem. s@ quosuy 100 aoe 200 meo soseileinesmesl@d, aeq auoaly@es
«;Toces)amg@s @10)6) 5 OO B>

A:-5
5

B:-10
10

C:-12
12

D:-14
14

Correct Answer:- Option-B

Question78:-Select the related letters which replace the question mark from the
given alternatives :
FIM : HFS ; DKN : ?
©@MIElEBM @RHUGEBBEUE MM Eal0Byala@IMR ald:EAW] NIMLEIS CRHMUOERUT HOEEETOFERD |
FIM : HFS ; DKN : ?

A:-FGT
FGT

B:-FDS
FDS

C:-FHS
FHS

D:-FFT
FFT

Correct Answer:- Option-A

Question79:-Malala has twice as many brothers as she has sisters. The number of
sisters of Majeed, brother of Malala, is one less than the number of brothers he has.
The number of sisters of Malala is

201081 MVEANIBAIAIGEH:IU EDPS] MVEANIBEMOMENE. ALAIQES TVEANIBEM azldlendo
MUGANIBEIAIMOS af)6Re @RAINOSS MUEANIBEEIBSOS af)sHRECMEIU BMO 06, Q)BT IS
MUEANIBAEIDOOS af)6Po

A:-3



D:-6

Correct Answer:- Option-A

Question80:-A right circular cone is cut with a plane parallel to its base into a small
cone and a frustum having their heights in the ratio 2 : 1. Then the ratio of the
volume of small cone to the volume of frustum is

QRITY YODIHTIVLSs B@ CH6M BRMIOMO @RSITMOY MVAMMERIW] GG 62I0lQ CHIEMOW
Qolaf@lesmm. 8@ @M 2 i 1 agim BRMANGOBIT DWERETE. @REJIUd O2IGIQ EEMIOMO @RS
@INOBTIOBO BRSO} GAARISS @AM

A:-19:8
19:8

B:-8:27
8:27

C:-27:8
27 : 8

D:-8:19
8:19

Correct Answer:- Option-D

Question81:-Fill up with suitable preposition.
It is fruitless to lament ............ our tragedies.

A:-on

B:-over

C:-through

D:-with

Correct Answer:- Option-B

Question82:-Correct the sentence.
| (complete) my homework before my parents arrived.

A:-completed
B:-have completed
C:-had completed
D:-have been completed
Correct Answer:- Option-C
Question83:-He was lucky ............... before the accident.
A:-saving
B:-to have saved
C:-to save
D:-to have been saved
Correct Answer:- Option-D
Question84:-Suresh is ............. (skillful) in this work than his friend Karthik.



A:-more skillful

B:-has skillful

C:-most skillful

D:-has been skillful
Correct Answer:- Option-A

Question85:-Add suitable question tag.
She barely spoke to Ramesh during the lunchtime, .............. ?

A:-will she?
B:-did she?
C:-didn't she?
D:-doesn't she?
Correct Answer:- Option-B
Question86:-They known him. (Change into passive form)
A:-He was known to them
B:-He is known to them
C:-He has been known to them
D:-He had been known to them
Correct Answer:- Option-B
Question87:-The word that is the synonym of 'prudent’ is
A:-dispel
B:-discredit
C:-discreet
D:-distinct
Correct Answer:- Option-C
Question88:-The word that is the antonym of 'acquit’ is
A:-condemn
B:-conceal
C:-concur
D:-confabulate
Correct Answer:- Option-A
Question89:-Find out the correctly spelt word.
A:-Enterpreneur
B:-Entrepreneur
C:-Enterprenure
D:-Entrepreneaur

Correct Answer:- Option-B



Question90:-Provide one-word substitute for the following.
One who is regaining his health after an illness

A:-Cosmopolitan

B:-Connoisseur

C:-Cynic

D:-Convalescent

Correct Answer:- Option-D
Question91:-qjamd + @o.ul caldeTmEDH

A:-ojaieineudl

B :-ayai0ei000i]

C:-jaueaioou]

D:-odauieleus]

Correct Answer:- Option-D
Question92:-wdlo® alGe GlEeEOFERSD

A:-@ryumlee

B:-@anuwmle.

C:-@owmlee

D:-spaiewomoagy

Correct Answer:- Option-B
Question93:-@r @@ ag)m 66 weeled:MmAMANIEBMNT®Y

A:- ai@Bee MEM@EBBEo

B:-ag@monicomease

C:- a@emo ®oeend

D:-spaiewomongy

Correct Answer:- Option-B
Question94:-me9a oMo @SIOMO alePWalBe ag@oem?

A:-odlaye

B:-@oqie.

C:-aflalermwo

D:-9@.6n100

Correct Answer:- Option-A
Question95:-wdlwow anseead?

Al-a@@ @emumlviwacal @euallsy

B:-2@o) @orucwlviwacw @J6uyoadly)

C:-@paruvanluiwasel oo @6).I‘500J']_v%



D:-spaiewomongy

Correct Answer:- Option-A
Question96:-weElwI® alBo aR®?

A:-anodleoe

B:-cuoafleso

C:-aiglleo

D:-ciodlee

Correct Answer:- Option-C
Question97:-edms oldleqgoe

A:-5a@l + oo

B:-&cdlmi + ojo

C:-admi + o8

D:-&@ + ays

Correct Answer:- Option-A
Question98:-caid + © - cadeTmEDH

A:-cad®

B:-emg

C:-eaug

D:-cao

Correct Answer:- Option-C
Question99:-mmud agm alsETIeal QlIMEO. @] 5ClQd:

A:-0 $000 20@o

B:-&u ao@o

C:-eamdajosmmal @6mmgo

D:-eamdajosomaie@omeag)

Correct Answer:- Option-C

Question100:-asmmye 6@ cmoai@d agaiiges + @Mq) OMFEEBIS] G ENIAUTE g gOIWIZ6NE -
QB B2lBOTOEBIVAUQIM WAWLPTN® R ?

A:- aimRmyeq)e @00 eMSEBROSIQe BMONIEH:UB ag)g@ilaiigert’
B:- alsenmyeq0 LY 6MFEBRISIQYe BOEOO EMOINIT af)g@ilwigene
C:- alemBmyemo @0 OMFEBRSIQYe MO af)g@ilwiigens

D:- aieaaye, @00 OMZEIBIS] EMIUEIHUB af)g@iigers

Correct Answer:- Option-D



